Definitions made simple

o Marginal distributions —
of the entire sample investigating.

%’s on the outside of a 2-way table. The %’

s describe the characteristics

o Conditional distributions — %’s on the inside of a 2-way table. The %’s allow us to investigate the

association between the 2 variables.
* Use the variable that explains the other variable.

* ]f the conditional %’s are the same then there is “NO” association between the 2 variables.

Example: Understand Marginal and Conditional distributions!

o Go to my website undet AP Stats Chapter 1 video “Getting Rich”

https://www.macmillanlearning.com/studentresources/highschool/statistics/tps5e/workedexamplevideos/workede

xamplevideoswomensandmensopinions.html

. Toint
9452, = 3%
T (mele stuwhe 56y D)
. Gender . , + e-\-ht
Opinion Female Male Total b C)m“ 3
Almost no chance 96 194 m l
Some chance but probably not 426 286 712 erqine
A 50-50 chance 696¢ 720 = \:"'z L =19%
A good chance 663 758 1421 8 les H
Almost certain 486 597 1083 | (29% o sem?
Total 2367 2459 1826 | golse chenee ¥ J
] A N %‘ ck
¢°‘\é"\'\onc\ ~ lou k“‘g Atohl femecles
.
- Ez%?.? =Zﬁ‘9° 0""3& Lemeles Sey S'O/So cheace
Examp!e Conditional distributions and relationships
nfuence a young adit's
o8& oy oA the i b
i N mtm mm of resporse For men
6;‘“ ™" for wcma'l m
e q‘;‘;\?@
(B | Responss F’
% _Aumesr 4o CHANE f% _ 4% | >
___Seme CHaske g o
__Se/sa ¢ KaaxE 29
__ Greop ClanlCcE 2§ ]
o MMOST  CE 8Thnl 2"__ - ‘ )
Based on the
o e e |




CYU - Conditional vs Margi

3 \
11. Commuting to work The table shows how a company's employees commute to work. Com / ‘\-‘Oz"}o
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17. The two-way table below shows the relationship between means of transportation to work
and gender for a simple random sample of 250 working adults in the United States.

Drive alone Car Pool Public transportation | Tetels
Male 113 16 6 155
_— Female 85 23 7 ns
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Discuss the relationship between gender and means of transportation to work for the working adults
in this sample.
‘a) Which conditional distributions should you use. HINT: Does Gender predict Transportation or vice
versa? (Gender expleins Mecns o+ Taans poeTatioN
S. Gender~ COdé Hanel qé (cad inine demnaminc “'ly')
b) Createa table with the appropriate conditional probabilities.

Gender
Male
Female
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¢) Provide an appropriate graph. Label axes and provide a key.
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d) Explain the relationship. 3 sentences. First is/is not an association. Two supporting statements that
make comparisons.
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